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ACTEX EXAM P STUDY MANUAL —2012

Errata List, by S. Broverman Updated November 26, 2012

Page 103, #2, line 2 should be “and one of these 5”
Page 138, Variance of X, 2" paragraph, linel should be “deviation”

Page 159, #4, line 2 should be “say ¢” (not “say d”)

N®-1

Page 180, variance of the uniform distribution should be

Page 182, #8, line 2 should be “moment a high risk driver has an accident is considered”
Page 324, Example 10-12, delete “40.” After the example number

Page 416, #19 solution, line 4, fix “using reversing ...”

Page 434, #29-PE5, in the 2™ line of the equation the “+(.8)(.2)*” should be ”—(.8)(.2)*”
but the numerical value is correct.



